

Converting from Slope Intercept to Standard Form

When converting from slope intercept form to standard form, you want to move your equation around so that the variables x and y are on the same side and the constant is on the other side. Additionally the standard form of an equation should not have the 'x' term be negative so you might have to multiply the entire equation (both sides) by -1 . OR divide by -1

Things to Remember about Standard Form

- $Ax + By = C \rightarrow A, B,$ and C are integers
- No fractions
- A should be positive

Convert the following equations to slope intercept form:

a. $y = -3x + 2$

$$\begin{array}{r} y = -3x + 2 \\ +3x \quad +3x \\ \hline y + 3x = 2 \end{array} \Rightarrow \begin{array}{r} Ax + By = C \\ 3x + 1y = 2 \end{array}$$

b. $y = 5x + 4$

$$\begin{array}{r} y = 5x + 4 \\ -5x \quad -5x \\ \hline y - 5x + 4 = 0 \end{array} \Rightarrow \begin{array}{r} Ax + By = C \\ -5x + 1y = -4 \\ \hline -1 \quad -1 \\ 5x - 1y = -4 \end{array}$$

c. $y = 7x - 3$

$$\begin{array}{r} y = 7x - 3 \\ -7x \quad -7x \\ \hline y - 7x = -3 \end{array} \Rightarrow \begin{array}{r} Ax + By = C \\ -7x + y = -3 \\ \hline -1 \quad -1 \\ 7x - y = 3 \end{array}$$

d. $y = -\frac{2}{3}x + 4$

$$\begin{array}{r} y = -\frac{2}{3}x + 4 \\ +\frac{2}{3}x \quad +\frac{2}{3}x \\ \hline y + \frac{2}{3}x = 4 \end{array} \Rightarrow \begin{array}{r} Ax + By = C \\ \frac{2}{3}x + y = 4 \end{array}$$

e. $y = \frac{5}{3}x - 3$

$$\begin{array}{r} y = \frac{5}{3}x - 3 \\ -\frac{5}{3}x \quad -\frac{5}{3}x \\ \hline y - \frac{5}{3}x = -3 \end{array} \Rightarrow \begin{array}{r} Ax + By = C \\ -\frac{5}{3}x + y = -3 \\ \hline -1 \quad -1 \\ \frac{5}{3}x - y = 3 \end{array}$$

f. $y = \frac{1}{2}x - 6$

$$\begin{array}{r} y = \frac{1}{2}x - 6 \\ -\frac{1}{2}x \quad -\frac{1}{2}x \\ \hline y - \frac{1}{2}x = -6 \end{array} \Rightarrow \begin{array}{r} Ax + By = C \\ -\frac{1}{2}x + y = -6 \\ \hline -1 \quad -1 \\ \frac{1}{2}x - y = 6 \end{array}$$